Engineer's Computation Pad
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te. Determine the deflection of the top due to the

The triangular bar shown is cut from a 1-in. thick pla
y; the elastic modulus is E. (Obvious

weight of the bar. The unit weight of the material is
assumption: Bar does not fall over)
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Town Allean

A rectangular aluminum alloy block has the dimensions shown in the figure. The resultants of
uniformly distributed stresses are Px = 40 kips, P, = 48 kips, and P, = 36 kips. Determine the
magnitude of a singie system of tensile forces acting only in the x direction which wouid cause the
same deformation in the x direction as the initial forces. Let G =4 x 10° psi, and v = 0.25.
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Determine the ratio of the ultimate plastic torque Ty, to the yield torque Ty, for a tubular bar of

circular cross-section. The inside radius is half of the outside radius c. Assume that the bar is made
of an elastoplastic material.
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